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Answers to Student Book text questions





Chapter 2.3
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1





a   Dipole–dipole.





b   London forces.





c    Hydrogen bonds.





2





c, b, d, a.





3





A hydrogen atom must be attached to an electronegative atom - eg oxygen (in water),


fluorine or nitrogen – for hydrogen bonding to take place.
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1    A clear graph showing an increase in the boiling temperature as chain length increases because, although there are only weak intermolecular forces between the molecules,


there are more places where they can operate.





2    a   Boiling temperatures increase due to increasing size and mass of molecules.


b   Increasing boiling temperature from PH3  to SbH3  explained by increasing size and mass of molecules. NH3  is higher than expected as nitrogen has a higher electronegativity than the other elements in group 5 and hydrogen bonding is possible.
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1





Since the enthalpy of hydration is greater than the lattice energy, the dissolving of


calcium chloride in water will be exothermic and the temperature of the solution will rise.
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Sugar molecules are covalent but contain polar — O—H bonds. These polar groups


can hydrogen bond to water molecules.
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